200600 OO0 ODOOOO 20060 10 160

Lecture 10 (DO0OOOOO)

obo: 00 0 000 go: 00 o

gobuoopobodgbboobuooobuoobbooboooboobbuoobboobooobao
goboooboobobooobuooboboobboooboooboobDboobboobboobobooo
gobooobooboooobuoobobooboooboooboobboobbooboobboon
gobooooboooobad

1 OJ0obobooooboood

VOoOoOoOoOOOOn=|V|000O00O0O00 f:2¥Y—-RO0000 X,YCVOOOO

f(X)+ f(Y) =2 fF(XNY) + f(XUY)
0000000f0000000000000000000000000f(0)=00000000
000000000000 00000000000RY ={z|z:V —-R}000000000O

¢reRVODveVOOOO0Oz0 00000000 2(v)0000000000000000Y CV O
0000z(Y) =Y,y 2(v) 0000000000020 2(@)=000000

z(X)+z(Y)=2z(XNY)+2(XUY) (1)
gobogpoboobobooboooboobboobo

oooo f:2¥ -ROOO0O0000O0D f(P)=00000000000f00000000000
000 P(f)00O0OO0 B(f)O

P(f)={z|zeRY, VY CV, z(Y) < f(Y)},
B(f) ={z [z e P(f), (V) = f(V)}

00000000O0O0|V|=2000000000000000 P(f)DO0ODOO0O B(f)OO 10000
gooon

01. 00000000 P(f)0DOOOO B(Y)



00 1. 0000 zeP(f)OOOOOY,ZCVOOOOz(Y)=f(Y), z(Z)=f(Z)DOooooOO
000z(YNZ)=f(YnZ), z2(YUZ)=f(YuZzZ)ooooo

00. (1)0D000 fO0O0O0O0OOODOOO

(Y NZ)+2(Y UZ)=2(Y) +2(2)
=fY)+f(2)
> fYNzZ)+ fYUZ) (2)
oooooooooooooo xEP(f)D
(Y NZ) < f(YNZ), (3
2(YUZ) < f(YUZ) (4)

00000(2)00000000000(3), (4)0000000000000000000000000
000000z(YNZ)=fYNnZ),z(YUZ)=f(YuZ) 0OOOOO O

0000000 z,yeRVO00000z(v)<yl) 00000 0veVOOO000000000z<y0
0000000 zeP(f)000000000 yeP(f)0000 x<yO0002z=y000000P(f)
00000000000000

002 O0000zeP(f)0P(f)000000D0000D0000D0000D000zeB(f)00000
oooo

00. zeB(f)000000z0 P(f)00000000000000000000000z0 P(f)0
0000000000z eB(f)000000000

0 P(f)000000000O0O0ODOOO0000veVOOODOOveY,000000Y,CV OO
000z(Y,)=f(Y,) 000000V =, Y, 0000000000000 10002(V)=f(V)O
00000000000zeB(f)000D0 O

00o0o0oooo pP(fH)DO0O0OO0OODOOOODO peRY O00D0DDO0O00O0O0OO0OOOOOOOOO
goodd:
Maximize Zp(v)x(v)
veV
subject to x € P(f).

0000000020 p00000000zeB(f)00000000000000000000O0O0O
000000000000000 (2"-1)00000000000000000,000000000
(000 R=1000000)0000000000000000000000fO00000000000
00000000000000000000

000 plv) 000000000 p; >pe>--->p, 000U ={v|p)>p}0000000;00
2000000000



02 U;,=A{v|pv)>np}
gobodibpdobboooboooboobo

003. 0000zeB(f)UpOOU0D0OO0O0OODOUDOUODODOOOO 0000 z2(U;) = f(Uy)
oobooobooog

0O0. 0ooo
Minimize Dy
YCV

subject to Z EY) = p(v) veV
veYCV
EY) >0 YCV, Y4V

00000&V)=p,000i=1,...,k—10000&U)=p;—pin 00000000 Y CVODO
000 ¢Y)=0000000000000000¢00000000000000000000000
000000 zeB(f)000000i0000 «(U;)=f(U;) 0000000020 0000000
000000000000000006000000000:

000YCvOoOoooogy)>0000 z(Y)=f(Y)

oobooobgoo

Z EY)fF(Y)=prf(V Z —pit1) f(Ui)

yCcv
= pr(V) + Z( —pir))z(Ui) = > p(v
=1

veV

00000000000 zeB(f)0O0O0OOD0OUOOfOOOODODOOOODOOOODOOOOODOO
Opl000 2000000000000 00D0ODODOD(U;)=f(U;)D0DOODO g

2 J0bO0O0ObOO0Oobooobooo

00000000000000000000000000 L.Lovasz0000000000000
VOODDOOODOOn=|V|00002Y0 000000 Q={peRY|0<p(v)<1}00000
0000000000000000f(¥)=000000000000 f:2¥ -RO0O0D0000000O



000 fO000O0000000000000000000000000 fO0000000000000
00000000000000000000000000
n00000000R00000-00000000000000000000000 00000
0000 f0000000000000000000000000O00000000000000000
0 f0000,0000000000000000

000030000003 (=6)000000000000000000000 30000 300
000000000 600000000000 0, {1}, {1,2}, {1,2,3} 0000000000000
P={peQ|pl)>p?2)>p(3)}00000000000

{2,3} {1,2,3}
i i,
// {1,2}
Au Y (1.3)
0 )

03 300000

000000 pe[0,1]V00000000 plo) 000000000 p; >pg > - > p 000
Ui={v|p)>p}00000000000000 A,hs,..., N1 000000000

k
=Y Aixu,
=1

000000000000 DD0D0Df(0) =000000000000 f:2¥—-ROOO0O0O0O
f:RK—ﬂRD

00000000000, 00000000000000000000000000000000000
00 a>00000 f(ap)=af(p) 0000000000000

0000000000000 0D00000000000198300 L.LovaszOODODOOOOOOO
googooo

oo 4. OO fDDDDDDDDDDDDDDDDDDDDfDDDDDDDDDDDDD

0O0. OO0 f0000000D0D00000DO 3000000 peRYO0OODO

f@)ZHMX{EZpOOMv)

veV

wGPU&

DDDDDDDDDDDDfDDDDDDDD



000 e>00000 flap)=af(p) 000000000000 O0D000 f00000000O0O0O
Y,ZCcvooono

2 A(XY‘FXZ

For +x2) =2 F (222) < foor) + Foxn) = 1)+ 5(2)

DDDDDDDDDfDDDDDD
fixy +x2) = fixvnz) + flxyuz) = f(Y N Z) + f(Y U 2).
DDDDDDfDDDDDDDDDDDD O

0040000000000 00DOO00OO00ODOOO0OOO00ODOOO0OOOO0ODOObOOOODOO
gobogpobooboboobuooboboobboooboooboobbooboooboobboon
goboooobgoo



